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Il Semester B.Com. Examination, November/December 2017
(CBCS) (Semester Scheme)
(2015-16 and Onwards) (F + R)
COMMERCE
3.4 : Financial Management

Time : 3 Hours Max. Marks : 70

Instruction : Answer should be written completely either in Engiish or
inKannada.

SECTION-A
Answerany five sub-questions. Each sub-question carries two marks. - (5%2=10)

1. a) Give the meaning of Finance.
b) Define FinancialManagement.
c) What is time value of money ?
d) Expand EAT, EBIT and PAT.
e) What do you mean by investment decision ?
f) What is dividend decision ?

g) Calculate the future value of a sum of ¥ 1,000 if it is invested at 8% interest
for a period of one year.

SECTION-B
Answerany three questions. Each question carries six marks. (3x6=18)
2. Explain the steps in Financial Planning.
3. Explain the need for time value of money.

4. Calculate the future value at the end of five years of the following series of
payments at 10% rate of interest :

¥ 4,000 at the end of 1Styear
% 5,000 at the end of 2" year
% 6,000 at the end of 3" year
% 7,000 at the end of 41" year
% 8,000 at the end of 5" year
P.T.O.
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5. Calculate operating leverage and financial leverage from the following :
Sales ~¥ 1,00,000 at¥ 5 per unit
Variable cost—% 1 per unit
Fixed cost —% 1,00,000
Interest expenditure — 20,000.

6. Rajesh and Co. is considering the purchase of a machine.

Two machines A and B each costingI 50,000 are available. Cash inflows are
expected to be as under. Calculate payback period :

Years Machine A Machine B
1 15,000 5,000
2 20,000 15,000
3 25,000 20,000
4 15,000 30,000
5 10,000 20,000
SECTION-C
Answer any three questions. Each question carries fourteen marks. (3x14=42)

7. Explain the factors influencing capital structure.
8. What are the principles of sound financial planning ?

9. Compare two companies in terms of its financial, operating and combined

leverages :

Particulars | Firm ‘A’ Firm ‘B’
Sales ¥20,00,000 ¥ 30,00,000
Variable cost 40% of sales 30% of sales
Fixed cost - ¥5,00,000 ¥7,00,000
Interest 31,00,000 ¥1,25,000

Interpret the results of the firms.
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10. A firm whose cost of capital is 10% is considering two Projects X and Y, the
details of which are

11.

Investment
Cash inflow :
| year
Il year
Il year
IV year
Vyear
Total

Project ‘X’ inX

1,00,000

20,000
30,000
40,000
50,000
60,000
2,00,000

Project ‘Y’ inX

1,00,000

45,000
40,000
30,000
10,000
8,000
1,33,000

Compute the internal rate of return for the two projects separatly. Project X by
20% and 29% and Project Y by 9% and 15%. Use the following discount for

calculating IRR.

Project X Project Y
Years 20% 29% 9% 15%
1 0.833 0.775 0917 0870
2 0.694 0.601 0.842 0.750
3 0.579 0.466 0.772 0.658
4 0.483 0.361 0.708 0.572
5 0.402 0.280 0.650 0.497
Cash flow of X project are given below :
Year Cash flow PV factor at 10%
1 20,000 0.909
2 30,000 0.826
3 60,000 0.751
4 80,000 0.683
5 30,000 . 0.621

The salvage value at the end of 51" year is T 40,000. Calculate the Net Present

Value.
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RT3 HTW YUB-BINER GUBOR. B3 TIN AT £H0BME. (5x2=10)
1. a) BTRS SHFDR, TRA.

b) BEITIAS DR BEOLI, YT

C) BB RBOOI IR, DOTTERD ?

d) EAT, EBIT 333 PATQR0%.

e) Qo3REN DeaF 0T, DesY e 5 FROVD ?

f) ©PYRoB QeaFC DOTTERD ?

g) ¥1,000) 3es@ 8T WREI0E 2,000 SRF PRGN DROIREMNTE STO PSFHT
VEISENSS] BRI ROND.

TR - W
S9N CINTTTT BeSH BB LZor. BSTI S0 oEnKL. (3x6=18)
2. BeatoRd 03ReRS0IO0D BeBNTR) DFOR.
3. DS ABIOD BPRYT LRFIENTR, OHOR.

4. 833N RTES TWBODY, T3 RS BeSes), Fesr 10 WA TBERTT, 20T
SRETS RN, eTT POF, BT FOBIERCD.

% 4,000 BRCoSeDH FRFB ©03T,
% 5,000 ORH0DH BRFE 20ZBE,

% 6,000 00D BRFB BZTY,
% 7,000 QR SRS 93T,
8,000 B30 IRFB @oeizsdejm
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5. BETNIYNeos B03F 2305 OxSerse B0 TBEITORS OB NI Fom@o%ROWO:
SRo2E ~3 1,00,000 I PG X 5
BOBOR?ED DUDF - [ PETY, T 1
;j\:pd wF ¥ 1,00,000
28 &0 —T 20,000,

6. oodes® :’n@ FOTIOT 20T cxi:o_s)dag DOeOTeR w“‘&ﬁz‘é#ogd. cdoz, A abég
cded B @b o0ogne ede3 T 50,000. IR 2WHBOR) B3 3PNTB aaeiﬁ@ahci G0
@d@odsa"% BOBIGLBOWD.,

- SR ooz, A oo B
< 4
1 15,000 5,000
2 20,000 15,000
3 25,000 20,000
4 15,000 30,000
5 10,000 20,000
RWIN - 2
O TW3E R Baeth apj%rf@ﬁ QUBOR. TS @,“%ﬁ a’ame.gmﬁrf%. (3x14=42)

7. WoBIY CEIH Degoss eI BOBNIS), DTOR.
8. ;;’..ﬁ,—\,; BEFIRO odRenSomd B NI 2

9. AT éoa’e'on’%idgt EIRING TSR 23053 302 003 Res OFBe NS B0a7 028 RocdR
A

QI3NEH ; Bo & mox

RT3 %20,00,000 3 30,00,000
Fgom RO, QUDFTIE BROMRA0%  SRoRE30%
%d DWBFNED X 5,00,000 X 7,00,000
B X 1,00,000 %1,25,000

ﬁo%n‘%* ﬁ@@mo@n’@d& SBOR.
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10. 20RO RK, B3, PO odrezd X SoRyY 33810 3 20T SN TWONEIRST.
YNNG DRTT B3 008 BT :

QRO cdnems X odnexd Y’
% {4

acdeen 1,00,000 1,00,000
[N WIBOH):

| IRF 20,000 45,000

Il &R 30,000 40,000

N SR 40,000 30,000

IV SR 50,000 10,000

V SR 60,000 8,000

Wi 2,00,000 1,33,000

ed
0RD 03ReRINE ©0308 BIPOT BOB), BF,eBeN FowEBOUD. odeems X
363 20 3 368 29 Tne olvewd Y FeIE 9 W 3e3cE 15. 83 NS DO3ROWS
0BT, WFRBROBO S0B0T e F TOR), FOBERBOM0D.

odneesd X odnems Y
SIS0 20% 29% 9% 15%
1 0.833 0.775 0.917 0.870
2 0.694 0.601 0842 0750
3 0.579 0.466 0.772 0.658
4 0.483 0.361 0.708 0572

5 0.402 0.280 0.650 0.497

I
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11. odrexsd X 8 3nmd DO B8 8 BREHAS :

SaFnd WDBOY 2. D, TI0° Bed 10 o3
3 2
1 20,000 0.909
2 30,000 0.826
3 60,000 0.751
4 80,000 0.683
5 30,000 0.621

NTSeo m;osi ~1J] dzgf;d a'b‘ae% 40,0003, ad‘;ﬁ W m‘ae%aiaigt BORIGLRC0.




